MATH-1860







Name ______SOLUTIONS___________

Exam 3

Spring 2003







S.I.D.# ___________________________

INSTRUCTIONS: You must show enough work to justify your answer on ALL problems.  Correct answers with no work (or inconsistent work) shown will not receive any credit.  The point value for each problem is given.  Give exact answers.  (No decimal approximations.)  You are permitted to use a non-graphing calculator.

1.
Find: 

[image: image1.wmf]x

x

x

3

csc

)

tan

1

(

lim

+

+

®

p

   (10 pts.)   
[image: image2.wmf])

1

(

¥



Let 
[image: image3.wmf]x

x

y

3

csc

)

tan

1

(

+

=

  (   
[image: image4.wmf])

tan

1

(

ln

3

csc

ln

x

x

y

+

=

  ;  
[image: image5.wmf]y

x

ln

lim

+

®

p

 = 
[image: image6.wmf])

tan

1

(

ln

3

csc

lim

x

x

x

+

+

®

p

   
[image: image7.wmf])

0

(

×

¥



=  
[image: image8.wmf]x

x

x

3

sin

)

tan

1

(

ln

lim

+

+

®

p

  =  
[image: image9.wmf]x

x

x

x

3

cos

3

tan

1

sec

lim

2

+

+

®

p

  =  
[image: image10.wmf]3

1

3

1

)

1

(

3

0

1

)

1

(

2

-

=

-

=

-

+

-

   (   
[image: image11.wmf]x

x

x

3

csc

)

tan

1

(

lim

+

+

®

p

  =  
[image: image12.wmf]3

/

1

lim

-

®

=

+

e

y

x

p



Note:  
[image: image13.wmf]1

cos

-

=

p

   (   
[image: image14.wmf]1

sec

-

=

p

   ;   
[image: image15.wmf]0

1

0

tan

=

-

=

p

   ;   
[image: image16.wmf]1

cos

3

cos

-

=

=

p

p



Answer:  
[image: image17.wmf]3

/

1

-

e

  OR  
[image: image18.wmf]3

/

1

1

e

  OR  
[image: image19.wmf]3

1

e


2.
Find the partial fraction decomposition for the following.  Do NOT find the value of the coefficients.  Put a box around your answer.  (8 pts.)
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3.
Evaluate the following integrals.  (97 pts.)  Put a box around your answer.
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